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HED 100
HE D 10000
HED 1000
HE D 1000
HE T 1000000

lha = 100m x 100 m = 10000 m? = 100 a
1km? = 1000 m x 1000 m
= 1000000 m2 = 10000 a = 100 ha
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1km? = 100 ha = 10000a = 1000000 m?
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FHEH T 1000000

1kg = 1000g , 1t = 1000kg
1t = 1000kg = 1000000 g
1t = 1000kg = 1000000 g
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1m?2 = 10000 cm?
9m? = 90000 cm?
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170000 cm? = | |m?

@17 @ 17 ® 170 @ 0.17 ® 1700

10000 cm? = 1 m?
170000 cm? = 17 m?
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(1) 500 ha = _]km?
(2) 20300000m? = |ha
(3) 7000000 m? = |km?
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1km? = 100 ha = 10000 a = 1000000 m?
(1) 500 ha = 5km?

(2) 20300000 m? = 2030 ha

(3) 7000000 m? = 7 km?
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400 x 400 = 160000 m? = 16 ha
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O 25km? = 2500a @ 49a =490 ha
3@ 6800000 m? = 680 a @0.54 ha = 5400 m?

® 370a = 3.7m?
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1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a =0.49ha

@ 6800000 m? = 68000 a

® 370a = 37000 m?
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@ 240a =2.4ha
@ 0.2km? = 20ha

® 35000a = 3.5km?

@ 170000m? = 17 a

@ 5.9ha = 59000 m?

@ 170000 m? = 1700 a
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@ 100 m? @) 10000a ® 0.1km?

@ 1ha ® 10m x 100 m
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@ 100 m?

@ 10000a = 1000000 m?

@ 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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D)0.3km? @ 0.3ha ® 300a
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@ 0.3km? = 30ha

® 300a = 3ha

@ 3000m? = 30a = 0.3ha
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300g —» Qkg

58t =Qkg=®g
4600g = 4.6kg = Ot

@ 90000 @ 0.03 @ 58000

@ 58000000 ($)0.0046

1kg=1000g , 1t =1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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® m?, cm? @ km?, a @ m?, a
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1ha = 100a = 10000 m?
b Ag2 2AHE m?, a9l
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® 24a = 240m? @ 1300a = 1.3ha
@)skm? = 80000a @ 1.6km? = 1600a

® 47m2 =470a
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1km? = 100 ha = 10000 a = 1000000 m? ©] 22
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@ 1300a = 13 ha

@ 1.6km? = 16000 a
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» Eh ha

[> HEH: 12000ha

15 x 8 = 120( km?2) = 12000 ha




